1.  Who among the following has developed the concept of Effective Incidence

of a Tax 7
(A) H. Dalton (B) J. R. Hicks
(C) R. A Musgrave (D) Ursula K. Hicks
Prefifan § ¥ Rred ot ST @ fraw @ e o 2
A) W S (B) W aw..fem
(C) ¥R ¢ w&dq m) wdg = o
2. The Child Sex Ratio is computed for £ age-group .
(A) 0-1 year “U(B). 0-b years
(C) 0-8 years (D} 0-T years
- o = o T S @ fog @ T 2
A) 014 ' T @ o6
© o= | ™ 077

-

3.  Given the production function Q = 3K® L3, find the output level when
8 unifs of capital and 27 units of labour are used :

“A) 18" ' . (B) 98
(C) 54 O 108

o gR TR B Q = 8KV 12 o firg, 99 TR WR W wawd we i o
8 vl T AW W) 27 vewdl w wdm @ W D

(A) 18 (B) 96

. (©) b4 (D) 108
TBC : YRS (AP-CC-Economica)—2029_» 2



4.  Simon-Hawkins conditions relate to which of the following ?
(1) Static-Leontief model
(2) Dynamic Leontief model
(3) These are necessary and sufficient conditions for the solution of the mode]

Select the correct answer from the codes givén below :
Codes :

(A) (1) and (2)
(B) (1) and (8)
(C) (2) and (3)
(D) (1), (2) and (3)
-l T P ¥ e defyw € 2
(1) wfes femadta wem
(2) wafe fagids ofew
@) A Wew F w0 @ fon wEvew ¥ ww v €
TR R T e ¥ wd s G
e
(A) (1) 9 (2)
(B) (1) v=m (3)
(C) (2) v (3)
D) (1), (2) 9 (3)

5. Tobin Tax is a tax on ;
(A) Transactions in the Monsy market

" (®B) Transactions in the Share market

(C) International Flow of Short Term Capitq)
(D) Domestic Transactions in Uﬂm}ﬂdity Market
A m P dAfa b ?
(A) @ aem # §aee
(B) wiavfa amm § Wem
(C) ey It =1 o= Yo
D) F-aEm F g, FR

TBC : YRS (AP-CC-Economics)—2022-A g P.T.O.



6. Select the correct sequence of states in decreasing order of their ranks jp the
4th State Food Safety Index :

(A) Tamil Nadu, Himachal Pradesh, Gujarat, Maharashtra

(B) Gujarat, Maharashtra, Tamil 'Nadu, Himachal Praodesh

(C) Gujarat, Tamil Nadu, Himachal Pradesh, Maharashtra

(D) Tamil Nadu, Gujarat, Maharashtra, Himachal Pradesh

wgd T wm W gEEiE A T B T F T § P § T o
HTFH & WY S

(A) wfaeErg, femree wewI, 004, TR

(B) ToRW, Weme, witerrg, fewae wew

(C) T, dferrg, e WW, TERe

(D) wfaerg, oW, TeNe, feeEe wia

7. The Monetary Policy Committee of the RBI, in its meeting held in June 2022
has projected the retail inflation rate in 2022-23 at :

(A) 7.5 percent (B) 6.7 percent

(C) 7.4 percent (D) 6.2 percent |

IR . . B 9 2022 F wwe g oifew A wfafa o dew # ad 202223
T Hea HREhlG Sl [ H FATIH T Y

(A) 7.5 Wiawe (B) 6.7 wfmm

(C) 7.4 wfawma . (D) 6.2 Wiy

8.  The Monetary Policy Committee of the RBI, in its meeting held in June 2022
has forecasted the real GDP growth rate for 2022-23 at :

(A) 6.7 percent (B) 7.1 percent

(C) 7.2 percent (D) 6.9 percent

am. @ st @ @ 2022 § awm gf e A aff o dew § d 202228
3 fay awafas M &) @ & sm @ ™ ¢

(A) 6.7 i (B) 7.1 Wi
(C) 7.2 WiV @) 6.9 v
TBC : YRS (AP-CC-Economics)—2099_, 4



9. The concept of externality in Economic EII was firat annlﬁiﬂﬂlw explained by
whom among the following ?
(A) A. C. Pigou (B) Ragnar Nurkse
(C) J. E. Meade (D) Gunnar Myrdal
aﬁﬁmﬁm_aﬁmﬂmaﬂmﬂqﬁﬂﬁf@“ﬁﬂwm
TR ¥ 2
(A) T 3. @ YT
(C) = % g @) TN firdel
10, If 2 monopolist faces & monopsonist, it is an example of which market form ?
(A) Duopoly (B) ‘DHEUPGIF
(C) Discriminating Monopoly (D) Bilateral Monopoly
Wﬁﬁ%mwﬂmﬁmmmﬂﬁlMWﬁ?ﬁmﬁmm
= ¥ ?
(A) wafER (B) IFEUHT
(C) faieras R D) fusE TR
11. Which one of the following paiﬁ is not correctly matched 7
(A) Multiplier-Accelerator Analysis - — Paul A. Samuelson
(B) Equation of Exchange — John Stuart Mill
(C) Fundamental Equatinng ' — John Maynard I{Eﬁgg
(D) Real Balance Effect — James Tobin
frefafaa gl # 4 S o8 grRfem ;¥ 7
(A) - v - T v e
(B) fafrR-wdEm e w3 firm
(C) amgroq Wi - WM A R
(D) uEfEF: M WA - g A

TBC YRS (AP-CC-Economics)}—2022-A . PT.0.



12.  Samuelson® Pare Theary of Public Expenditure is concerned with
(A) Allocation of resources between private and public .

(B) Faster development of economy

(C) Distribution of income to poor people

(D) Encouraging development of backward regions only

ﬂqﬂaﬂqﬂaﬁﬂim%mfaﬁﬂmma»;
(A) ﬁﬁﬂammﬂaﬁﬁaﬁ[ﬂ%mmwm-

®) s W g

©) frh =fd #1 3@ T A

D) Zaw fed &6 & fwm W doafem S

James Tobin’s portfolio theory of demand for money assumes that the

13.
individual :
(A) is risk lover (B) is unwilling to take risk
(C) is neutral to risk (D) d;mgardsnak
s ARA B G T G D WARE e 1 arm ¢ RE SE
(a) Wfefmdmt - - B Sifgn & 4% w1 afrgs wa ¥

(€ afew & W =wA wa ¢ D) fen @ B wa @ W ¢
M. X : ofpmﬂFﬁmmrholdsmaunderwhinhmrk&tmndiﬁuﬂ

?

ﬁﬂ-aﬁm

% W U ) g g 4 @ AR Y 2
A) Tl B

(©) Eilyafts mm i

TBC : YRS (AP-CC-Economicg) _ongn 4 =



15. “State A is socially preferable to gtate B, if the losers in A cannot profitably
change from B to A.” This statement rolates to :

(A) Little criterion (B) Scitovseky criterion
(C) Hicks criterion (D) Bergson

Rafa A wrfes &9 @ feaft B @ dgem & of Rafa A & 500 SR B R A
¥ WREF WReH T R W gy wem wane ¥ o

A) fofew aree (B) fodaeh! AFRS
(©) fem wrEe (D) e

16. Under the rational expectation hypothesis, an expansionary monetary policy
in the short-run would :

(A) Reduce inflation (B) Increase GDP

(C) Reduce unemployment (D) Have no effect on unemployment
feaept wemn afees F o, swrm § frarae At A
(A) wErewifa § =t ®) < & @ § gf

(C) St § =it D) FWermlt | #¢ yvE T 9@m

17. The RBI constituted a high level committee on Deepening of Digital Payments.
The Chairman of the Committee was :

(A) Bimal Jalan (B) Nandan Nilekani
(C) C. Rangarajan (D) N. R. Narayana Murthy

M. 9. m.#mmmmmfm;ag@ﬁ-mmmﬁ
A fea g fa wfafa & wae 9 .

(A) faws srem (B) ﬁqm

(C) ®. tmmm D) T sm. FwEmf
TBC : YRS (AP-CC-Economice)—2022-A o P.T.0.



18.

19.

Who among the fn]lnﬁnﬂ has introduced Income Tax in India for the firgt

time 7

(A) William Jones (B) Sir Charles Wood

(C) Sir James Wilson (D) William Howard Taft

g § @ Fred TR VO WA # e W oweEd o 2
(A) fafeam s (B) W = g8

(C) ™ 3w fa= o faferam w7 TR
Which of the following is called Gossen’s First Law ?

(A) Law of Equi-Marginal Utility

(B) Law of Diminishing Marginal Utility

(C) Law of Substitution

(D) Both (A) and (B) |
mﬁﬁmﬁqmmﬁmmﬁ?

(A) Ta-dm e e
(B) wamH dmra sydifm fam
(C) wiears =1 fam

D) (A) 991 (B) 3
If negative income effect is greater than positive substitution effect, the product
will be :

(A) An inferior good (B) Asiﬂ:'an.smcl

(C) A normal good ' (D) A complementary good

R ToE am gME G Whead TE R afes @, @ SR 8o
@A) = (B) fifte =vg

© ¥ g (D) & &g

TBC :
YRS {AP-CC-Emnmn)_gnzz_ A 8



21.

Match List-I with List-II and select the correct answer from the codes given
below the lists :

List-I List-I1
(Theory of Profit) (Name of Economist)
(a) Risk-bearing theory @) Frank H. Knight
(b) Dynamic theory - i) F.B. Hawley
(¢) Theory of uncertainty (i) G.L.S. Shackle
(d) Theory of potential surprise (i) J. B. Clark

Codes :

(a) (b) (c) (d)
(A) (w) (77 I 73 ®
B @ @ @
C @ @ G (i)
@) @) @ @ (i)

& B g @ gafea waf e gfed @ AR R T 2 ¥ @ 9w W
o - .

-1 -1
@ @ fasr (relymet T
@ fem fagm () W W R
() wafis fagm (i) T & T
o) Sffraaa =1 faa (i) i @ w MM
(@ wa awad 7 fagr (iv) <. =t o

e
(@) (b) (e) (d)

(A) () G @ 6
® @ G G O
© G @ G )
o @ G O U

TBC : YRS (AP-CC-Economics)—2022-A g - PT.O.



22 Which of the following is not & component of the aggregate demand curye 9

(A) Consumption (C) (B) Savings (5)
(C) Government Expenditure (G) (D) Net Exports (X-M)

frfafiga 8 A £9@ & 990 19N T % gues W £ 2

A) T (C) B T (S)
(C) = =/ (GQ) (D) 3 @ (X-M)
23. The Geometric mean of the series 4, 0, 16, 32, 64 will be equal to :
(A) 4.0 B) 83
(C) Zero () 8
2ot 4, 0, 16, 32, 64 T TUITL " AW :
(A) 4.0 (B) 82
(C) Zero (D) 8

24. Type I error in sampling is defined as :
(A) Accept Hy when it is true (B) Accept H; when it is false
(C) Reject Hy when it is false (D) Reject H; when it is true
wfa=sg 4 Zr9 1 3z sfonfem & .
(A) Ho =&H § @ a5 v & (B) H, wier & v&@ 9% 7em ¥
(C) Ho 5®™ ¢ 9@ 9% wem & (D) H, s=hwd ¥ va =% v ¥
25.  Which of the following index numbers under-estimate price rise ?
(A) Laspeyre’s Price Index Number (B) Paasche’s Price Index Number
(C) Bowley's Price Index Number (D) Fisher's Price Index Number
ﬁnmuiﬁﬂﬂmqqmmq&mmmmt ?
(A) @I HI (B) W WA Yo
(C) WA FIv HIHiw D) frw wma e
TBC : YRS LaP-CC-Emnnmiu}_.zggz_A 10



(Q. Nos. 26-30) :
Given below are two statements, one jg labeled a8
as Reason (R). Select the correct angwer using the
(W &, 26-30) : ;
A 7 iy m @ @ aﬁm{mm{ﬂmm(mmm
m b7 fum @ A A WA
9. Assertion (A) : The progressive taxation is base
marginal sacrifice.
Reason (R) : With the increase of income,
declines for the taxpayer.

pssertion (A), and other
des given below.

the marginal utility of money

Codes :
(A) Both (A) and (R) are true and (R) is the correct explanation of (A)
(B) Both (A) and (R) are true but (R) is not the correct explanation of (A)
(C) (A) is true but (R) is false
(D) (A) is false but (R) is true
HFa (A) Wﬁ?ﬁﬁﬂﬂﬂﬂ-@ﬂﬂﬁﬂﬂﬁmmmtl
TR o E T W, EW A R AR I
e ]
e
A) (A) 7 ®) 3 T E @), @) F T e w7 R
®) (&) 70 @) 3 7@ § g @), (4) 7 T e W ww b
() (A) ¥ ¢ Wq (R) T 1
D) (A) TR ¢ W (R) F
97, Assertion (A) : Infant Industry argument was supported by Friedrich List.
Reason (R) : The infant industry argument supports free trade.
Codes :
(A) Both (A) and (R) are true and (R) is the correct explanation of (A)
(B) Both (A) and (R) are true but (R) is not the correct explanation of (A)
(C) (A) is true but (R) is false
(D) (A) is false but (R) is true
afvm (A) ¢ i 70T T R e g il e T @
:me’ + iy 70 TR 3 3 ey v
IIOELT TR KGR ALNURTIE e p——
) (A) v (k) % 5§ T R), () 3} h g o @
© () % & v R) T b
) (&) 7w § v (k) w0 b

TBC : YRS (AP-CC-Boonomics}-202-A 1 PTO



28. Assertion (A) : Tariff leads to decrense imports of goods and servieag,
Reason (R) : Tariff leads to increase in prices.

Codes :
(A) Both (A) and (R) are true and (R) is the correct explanation of (4)

(B) Both (A) and (R) are true but (R) is not the correct explanation of (A)
(C) (A) is true but (R) is false

(D) (A) is false but (R) is true

AT (A) ¢ TUEE @ SR wm Janelt & omaw # Wl @6 ¥
«RaT (R) - ﬁ{;ﬁaﬂmﬁﬁqﬁmh

Hhe -

(A) (A) 7 (R) SR &3 & a0 (R), (A) 9 W@ =rem F@

(B) mmm)ﬁm%ﬁfm,wﬂnitmﬂm%u

©) (A) 94 & w4 (R) @ ¥

D) (A) 7o & 9eg (R) ¥ ¥
Assertion (A) : Aﬂhrguuamplaa,aﬁthmeﬁcmmintaabaduningmmﬂ

29,
distributien.

Reason (R) @ Whanpopu]aﬁunhaamrmaldisuihuﬁun,aﬁthmaﬁcmm'
of a sample from the same population will have ¢
distribution

Codes :

(R) is the correct explanation of (A)

(A) Both (A) and (R) are true and
- (B) Bath(A)and(RJm-tmabut{Rliannt
(C) (A) is true but (R) is false

the correct explanation of (A)

@) (A) is false but (R) is true |

#aman (A) mﬂﬂ#qﬁgﬂlﬁ,mmmuﬂmmiﬁmm
. o e s B '

T (R) 1 mmmﬁzﬁ%mﬂﬂﬁmm#nﬁﬁﬂﬂ

WA WA ¢ W e
T
W ) v (B) A W § e (), (A) T O @ F@ G
B) W) 7e (B) A 7@ § vrg (), (A) T W@ =S @ Fw
TBC : YRS (AP-CC-Economics)—2022-A 19



31.

Assertion (A) : Inasymmetrica] Bell shaped distributive curve, the value
of Arithmetic mean. Median and Mode are identical.

Reason (R) : There is no ﬂkﬁwnelgg iy the distribution of the series.

Codes :

(A) Both (A) and (R) are true and (R) is the correct explanation of (A)

(B) Both (A) and (R) are true but (R) is not the correct explanation of (A)

(C) (A) is true but (R) is false

(DY (A) is false but (R) is true

AIFET (A) @ uF wufaw Sem ded o 6, WA W, WA qe qge
THEHH BT T

ST (R) s A F He § R fauwar T €|

&

(A) (A) 71 R) 3 W= ¥ 7w (), (A) F WO AN HF@ I

(B) (A) 7@ (R) 2F ¥ & W (R), (A) #1 W& =EA Tl F@ T

(C) (A) ¥ ¥ 9% (R) "8 %I

D) (A) ToW & T (R) ¥4 ¥

Which of the following is correct regarding long run cost ?

(1) It shows the least cost of producing each level of output,

(2) LAC curve is the envelope of SAC curves.

(3) LAC curve is ‘U shaped.

Select the correct answer ysing the codes given below :

Codes :

(A) (1) and (3) only

(B) (1) and (2) only

(C) (2) and (3) only

(D) (1), (2) and (3)

fretfafas § @ SFE w99 SEGOH o6 S fae g8 ¥ 2

(1) T% 3R & Y w1 W [ Iee a7 efvla & &)

(2) UAUH W% THCH WH W TGN T ¥

(3) UAUH GF U SR A Y

dra A w2 & wm s /6 OIW Y ,

&He

(A) @wad (1) a4 (3)

(B) @4« (1) 441 (2)

(C) a9 (2) 941 (3)

(D) (1), (2) a% (3)

'BC : YRS (AP-CC-Economics)—2022-A 4 P.T.O.



32.  Consider the following statements about individual housing loans by cooperatiye
banks, in the light of RBI's directive issued in June, 2022 :

(1) The limit of housing loan for Tier I Urban Cooperative Banks (UCBg)
has been raised from Rs. 30 lakh to Rs, 60 lakh.

(2)  The limit for housing loan for Rural Cooperative Banks (RCBs) has been
raised from Rs. 30 lakh to Rs. 75 lakh.

(3)  These limits were last revised in 2011 for UCBs and in 2009 for RCBs,
Select the correct code from the following ;

Codes :

(A) (1) and (2) are correct

(B) (1) and (3) are correct

(C) (2) and (3) are correct

(D) (1), (2) and (3) all are correct

M. St and. gR A 2022 # few M i @ i d, wewnt 4 g few o
S =T TR W S fawm ¥ frm wmeE W faan s

(1) f&R 1 el weard F () & faw e s o @ 30 @ v @
qeHt 60 W T #T o T 3

@) i wEEd T (smata) @ R e ww S dm @ 50 wE R A
qEH 75 T TN w foy M § 2

(3) 37 "mad # froeht ar g @ fom 2011 ¥ qu sRE . & faw 2009
§ wenfya fem m o

ﬁmﬂﬂﬂiﬁ.ﬁgmmqﬂmz
T

(A) (1) 791 (2) odt &

(B) (1)@ (3) 7 &

(C) (2) @@ (3) wft &

M) (1), (2) 74 (3) woft =) §

TBC : YRS (AP-CC-EmnnmicHFED22~A 14



33. With regard to Agricultural Produce Market Committee (APMC), which of
the following statement/s isfare correct ?

(1) The Government of India created the Agricultural Produce Committee
Act in 2003

(2) The APMC aims to protect the farmers from the exploitation of
intermediaries and large retailers.

(3) The APMC are the marketing boards established by the state governments,
(4) All the state governments have established APMC.

Select the correct answer using the codes given below :

Codes :

(A) (1), (2) and (3) only

(B) (2), (3) and (4) only

(C) (2) and (3) only

(D) (1), (2) and (4) only

¥ IR 9eR W (gdgeE) & wed b, ﬁﬁfﬁf@ﬂﬂﬁﬂﬂﬁﬂmﬂ
wE e ?

(1) ¥d ¥R A Ffw e sl afufmm 2008 & o= o

@ v 7 siea frad @ EEifEd G a? geew wofd @ viow @
9 ¥

@) i T T g e R 9 g

@) = 19w A gieR W R R g

#2 fg 7Y G W 7@ G T IR W 9 i
e :

(A) @5 (1), (2) 7 (3)

(B) AW (2), (3) T (4)

(C) a4 (2) 7w (3)

D) F=a (1), (2) 7901 (4)
' TBC : YRS (AP-CC-Economics)—2022-A 15 P.TO.



84. With reference to discriminating monopoly, which of the following statement/g
isfare correct 7
(1) MR = MG, = MG
(2) MC = MR, = MRy
Select the correct answer from the codes given below :
Codes :
(A) (1) only
(B) (2) only
(C) Both (1) and (2)
(D) Neither (1) nor (2)
mmﬁﬁﬁ.ﬁﬂmﬂﬂﬁwﬂmwm?
(1) MR = MC; = MG,
(2) MC = MR, = MR,
2 foy g F2 ¥ @ IW F w9 WMWY
f/e
(A) w=d (1)
(B) a4 (2)
(C) () T= (2) T
@ ARORTHE@
35. In the duopoly mode), the equilibrium price is obtained at the intersection
ﬁthﬁrmcﬁnnm.mgmmmmtigmmfuiwhichnﬂhaw

models 7
(A) Bertrand moda] (B). Chamberlin model
“ geworth model (D) Pareto model

SR e §, W wivy i w9 SR @ T O &1 98 9,
Preifen stecd 4 9, foeet foy it & 7

o). e Wen (B) “arfeA Hizd

i) X @) WA e
TBC : YRS (APCC-Economica)—2027_, 1



36. Ifry = 0.5, match List-I with List-II and select the correct answer from the
codes given below the ligtg :

List-I List-I1
(@) Correlation coefficient botween (i) -0.5
Xand Y
(b) The square of correlation Co- (ii) Coefficient of determination
efficient
(d) Coefficient of correlation (iv) +0.B
between -X and -Y
Codes :

@ B (© (@
(A) (@) (iz) () ()
B) Gv) @ G )
© @ () @ G
M @ (i) - (@) (i)
R r,y = 0.5, & T B G-I F gofew S oo ghodt & T Ry ™ 2
¥ 8 I H 99T :

ik, ity b

(@ XY 9 We5aY 0% () -0.5
(b) . WEWEY TUiE w1 & @) Frafo s
() —1¥|+1 (i) wEHEY TUiE Y wArd
(d -Xd9-YF 99 g5eaY TS () +0.5° '
ﬁd‘ z

@ B @ @
(A) @) (££) (@) ()
B) () () i) @)
© G @ @ D
@M @) (i) (iv)

37. The area between -3 and +3 under standard normal curve is :

(A) 0.6827 (B) 0.95

(C) 09973 . M) 1

T YO o @ -3 19 +3 F My PR
(A) 0.6827 (B) 0.95

(C) 09973 D) 1

TBC : YRS (AP-CC-Economics)—2022-A 17 PT.0.



38. Consider the equation : ' |
Real interest rate = nominal interest rate — expected inflation rate,

The above equation is represented of which effect ?

(A) Pigou Effect (B) Fisher Effect
(C) Real Balance Effect (D) Patinkin Effect
frmy wte W e

mﬁmmﬂ=ﬁmmﬁﬂ—mﬁm5ﬁmﬁﬂ
Waﬁmmmaﬁaﬁhmt?

(A) dh W (B) frwm wwe
(C) arfas o9 WHHE D) fefwa 3=

39. Gunnar Myrdal's theory of development concentrated on which aspect among
the following :
(A) Population explosion (B) Scarcity of human resources
(C) Inadequacy of capital (D) Regional inequalities
wmmmmmﬁ%ﬁm‘wmﬁhﬂ% ?
(A) waen faeRe (B) WAE W@l Bl gEWdl
© &t wt s D) &g

40. Consider the following statements with regard to Neo-Classical growth model
as propounded by Solow :
(1) Constant population growth
(2) Variable capital-output ratio
(3) Variable savings rate
Select the correct answer from the codes given below :
Codes :
(A) Only (1)
(B) (1) and (2) only
(C) Only (2)
(D) (2) and (3) only i

@) uiEda -

(3) qfEdda 990 @
gﬁ‘lﬂ!?@r%'ﬂﬁmmmm:
(A) wEd (1)

(B) @a® (1) 741 (2)

(C) ®ad (2)

(D) wad (2) 791 (3)
TBC : YRS (AP-CC-Economics)—2099 » 14



41. As per Economic Survey 2021.22 ¢pe projected real growth rate of Indian
economy during 2022.23 would be -

(A) 7.0 - 7.5 percent (B) 7.5 - 8.0 percent
(C) 8.0 — 8.5 percent (D) 8.6 — 9.0 percent
aufdi TN 2021-22 B SR, & 2029.93 # s AdETEE GBI TR
wafe g ot .
(A) 7.0 — 7.6 wfovm (B) 7.5 — 8.0 Wiww
(C) 8.0 — 8.5 wfovm M) 8.5 -90 yferd
42. Consider the following statements about MSME Act, 2020 :
(1) The Government revised the definition of MSME under Atmanirbhar
Bharat package announced on May 13, 2020

(2) Under this package, the distinction between manufacturing units and
service units has been removed.

Select the correct answer from the codes given below :
Codes : 1 '

(A) Only (1)

(B) Only (2)

(C) Beth (1) and (2)

(D) Neither (1) nor (2) ;

TigE afufrm, 2020 # fva # Fra weE W RER SR

(1) IR I 13 =, 2020 N W IR 7w e R el T @
afewrer # deinR faear ¥

@) 7@ %9 @ e, fafmin e 90 33 T @ aw dw W T K
™ ¥

9 ey w2z ¥ 9@ IW = ¥ |G :
@':

(A) wEa (1)

(B) Had (2)

(©) (1) aan (2) -

M 7@ (1) 36 @

TBC : YRS (AP-CC-Economics)—2022-A 19 P.TO.



43. As per India Forest Report 2021, how many states/union territories have mgpg
than 38 percent of their geographical area under forest cover ?

(A) 23 (B) 19
©) 13 ' D) 09

W 79 fad 2021 @ IFER, T o oo # o Tifewm @9 g3
whrem @ afus wm &1 89 ¥ IT=miE § 2

(A 23 (B) 19
© 13 @) 09 |

44. With reference to EASE Index, which of the following statement/s is/are
correct ?

(1) It measures the ease of doing business for MSMEs in India.
(2) It measures the performance of public sector banks.
(3) It is used to measure the ease of doing business by rural artisans,
Select the correct answer from the codes given below :
Codes :
(A) Only (1)
(B) Only (2)
(C) Only (3)
(D) Both (1) and (3)
ﬁm;mﬁmﬁﬁnﬁmﬂmﬁmﬁﬁﬂmﬂaﬂﬂﬁﬁh
(1) & WA & (e & fog =awm § g & 99w g
(2) uE wEA @ B §H R fraga w1 A9 w §
(3 T WA Wi S f sgEeg # gEe W ae ¥ d §
9 R W R A W IW W ww FC -
T
(A) HEd (1)
B) ¥4 (2)
(C) %gH (9)
@) (1) am1 (3) &l
rBC : YRS (AP-CC-Economics)—2022-5 g



Match List-I with List-I1 and select the correct answer Ny usids the
given below : . :

List-I List-1I
@ e>1 @) MR =0 '
® e<1 () MR is positive
© e=1 i) MR is negative
Codes :

(a) %) (c)
@ o @ @
(B) (&) (&) @)
(C) (). (&) @
O &) (iid) (i)
A1 W R-I1 ¥ g @i T A R g T W VAT FA W AR W
w1 TYT HIfEY -

g1 qeit-1I
@ e>1 @ MR=0
® e<l ) MR TEE -
© eo=1 (i) MR BOTEE ¥

e :
(a) (b) (c)

A @ @) (i)

(B) @) @@ @

© @G @

D () N (7)) -

Who the following has considered %
m:::.lthfurm:;mg s th;rm::n:ix;mhmwmlthtn

(A) Paul Samuelson (B) Milton Friedman

(©) Do; Pn:‘-;n aa. » M) Gurley R. Shaw

ﬁmﬂam qu?;rmt : T H g IR-wrE WY A 99

(A) e HeEEA B) frew witety

(©) =M D) T sw. wr

TBC : YRS (AP-CC-Economics)—2022-A 23 : P.T.O



47.  The RBI's Monetary Policy Committee in ita meeting on 8th June, 2022 declared
the Repo rate and Reverse repo rate respectively as :
(A) 4.90% and 3.36% (B) 4.40% and 3.36%
(C) 4.90% and 3.66% (D) b5.16% and 4.656%
srcdtand ) i A aff B8 W 2022 W o= gf e F W R AN
W 7w | #® W

(A) 4.90% 7w 3.36% (B) 4.40% d= 3.36%
(C) 4.90% ©wW 3.66% (D) 5.15% w91 4.65%
48. Who has coined the term conspicuous consumption ?
(A) Thorstein Veblen (B) Max Weber
(C) Ragnar Nurkse (D) J. 8. Dusenberry
WA (IF=) W v= W R o g )
(A) o e (B) W ¥
©) = v D) . @ TR
. mmmhﬂtﬁmm“mhﬂ'mmrﬂmmmhmmnfmm?
(A) EN.Rej (8) VKRYV. Rao
(C) Raj Krishna D) Amartya Sen
R LR U SRRy S
@ 3w W™ (B) & % am & W
- (C) T F=7 . D) ¥ B
50. Which one of the following ig pot o part of World Bank group ?
a). i (B) IFC
© ADB i R
e 3 W W g o 2
:2; ﬂ (B) ST
D) smisheme

TBC : YRS (AP-CC-Economiea)—2023_, 2



51.

52.

53.

TBC : YRS (AP-CC-Economics)—2022-A 93

Which one of the following is not true about the relationship between average

product (AP) and margina) product (MP) ?

(A) MP reaches its maximum point earlier than AP reaches its maximum
point,

(B) After AP reaches itg maximum point, AP decreases while

(C) When MP > AP, AP increases.

(D) When AP = MP, AP reaches its maximum point

Mﬁjﬁw@mm(mmmmtmﬁmm

(&) %ﬁ;ﬁmmm,w%mmﬁ%ﬂ@ﬁmﬁﬂ
- I

(B) @%mﬁmﬁqmqﬁﬁﬁm,@m%mmmh

(C) ¥& Tt > wll, @ qf =@l ¥

D) & Th =, A T A T g W g §

Which is the correct relationship between AR, MR and elasticity of

demand (e) ?

MP increases,

(A) MR = AR (e + lle) (B) MR = AR (1 + Lle)
(C) MR = AR (e/1 - e) (D) MR = AR ((e — 1)e}
AR, MR a1 Wl F1 &4 () # T T T R ?

(A) MR = AR (e + Ve) (B) MR = AR (1 + lle)
(C) MR = AR (/1 — e) (D) MR = AR ((e = 1)e]

In kinked demand curve theory of oligopoly, which of the following is an

assumption 7
(A) If a firm increases the price, other firms will follow the same.

(B) If a firm increases the price, other firms will not follow.
(€) If a firm decreases the price, other firms will follow the same
@) The firms collude with each other to fix the price.

swafean & fagfan i o W A, fe § 3 s o o €2
&) o v FE # 9 TR D o g s w0
@) % @ i A T T YR o i g oo @ w
©) R i g § T R o o g o Al

o) Fm 7 fuffw w0 B T ey w6, |
P.T.O.



54.  Which among the following i8 frue for Real Effective Exchange Rage
?
:’:T'E:'I:I:'s .weighted average of ﬂ."ﬂ' value of Traded currency
(B) it is not adjusted for uf.lﬂal:.lun
(C) it is adjusted for inﬂai:un
Both (A) and (C) are true
Fratetn 4 8 S T B T o A 4 g b
(A) 7% =9RE s (e S * YR w wiw W ¥
(B) u¢ meHf 4 widfew TE& ¥
( mﬁﬂﬁﬂﬂmiiamﬁﬁmt%|
D) (A) 7 (C) A T &
95.  In which city, the headquarters of Reserve Bank of India =

of the

first established 2
(A) New Delhi (B) Mumbai :
(C) Chennai (D) Kolkata
Wﬂﬁﬁﬁﬁﬂmmﬁﬁmﬁmmm&m S
(A) 73 feeeit (B) T
(C) == D) =

56.  Consider the following events with regard to their establishment and arrange
them into chronological order : . ‘

(1) SEBI

(2) EXIM Bank

(3) Regional Rural Bank

(4) SIDBI

Codes :

(a) (2), (3), (1), (&)

B) (3), (2), (1), 4)

(C) (3), (2), 4), (1)

M) (3), 4), (1), (2

Eflz;;ﬁiwtam%Iﬂmmwﬁﬂﬁ1:ﬁﬁw:imﬁqaﬂrmﬁﬁmmynmﬁmmammhq:
)

(2) Fm 9=

(3) &g O O

(4) fa=d@t

E (2), (3), (1), (4)

(B) (3), (2), (1), (4)

(C) (3), (2), (4), (1)

(D) (3), (4), (1), (2)

TBC : YRS (AP—CC-E:nnnmicﬂl-—zugz__A 24



57. Which of the following pairs is not correctly matched ?

Concept/Theory Name
(A) Trade creation —  Jacob Viner
(B) Immiserizing Growth —  Jogdish Bhagwat
(C) Secular deterioration in —  Prebisch Singer
terms of trade of developing
countries
(D) Theory of offer curves — 4.5 Mill
Prefefan 30 3§ ¥ s od wifm @ ¢ 2
Heaer/fagr i
(A) =W g = SR
B) whwwhin ty | — R
(C) formfte 29 # sar-vel
4 Al e ~ W R
D) waE o & fagea — % w fm

58. If the standard deviation of a population is 54 and the sample size is 9, then
the standard deviation ‘of the sampling distribution would be :
(A) 6 (B) 12
(C) 18 m 9

o et W T WA faee 64 9 SRR W o o & @ vhid det @
g faae wm o

(A) 6 (B) 12
(C) 18 D) 9
59. Whieh of the following distributions is used for testing & hypothesis ?
(A) Poissen Distribution (B) Normal Distribution
(C) Chi-square Distribution D) Gamma Distribution
MWﬂmmmmﬂ&mmmﬁ ?
(A) @Ml 9 ‘(B) wamr dem
©) wi-wiwA D) W ey

TBC : YRS (AP-CO-Economicl—2082-A 5 PTO.



60.

61.

TBC

balls of different colours. A boy selects 2 balls at randop,

ins 1
A bag contains ¢ Find all possible combinations of the colours of the selecteq

without replacemen

balls ;

(A) 20 (B) 21

©) B4 o TR T TR v e iy feh S & 2 g
ﬁﬁ%ﬂgﬁwmaﬂﬁaﬂﬁa}ﬁ%wmﬁﬁaﬂwh
(A) 20 (B) 21

(C) 24 D) 14

For a standard normal variate, the values of Mean and Standard deviation
respectively are :

(A) 0,0 B) 0,1

C 1,1 M 1,0

W yaite v ® B o, e e oy faee e

(A) 0,0 (B) 0,1

© 1,1 M) 1,0

Consider the following :

(1) Absolute Income Hypothesis
(2) Relative Income Hypothesis
(3) Permanent Income Hypothesis
(4) Life Cycle !-Iyputhaaia

E:l]::: :tha correct sequence in chronological order from the codes given

Codes :

(A) (1), (2), (3), (4)

(B) (2), (1), 4), (3)

(C) (1), (2), (4), (3)

D) (4), (1), (2), (3)
freife w0 faam wifey .
(1) s 3\ Iemem
(2) WG AM IFHE
(3) vl AW I
(4) HET WH TR

E .(1}. (2), (3), (4)

) (@), (), (@), (3)
o) (1), @, @ @
{(n; @), (1), @), @)

YRS mp,ﬂc.ﬂmnomimi-—ng_ A og



3. Match List-I with List-I1, and select the correct answer from the codes given
below :

List-I

(@) H. Leibenstein
(b) W. W. Rostow

List-II
(i) Vicious circle of poverty
(i) Low level equilibrium trap

{c) R. Nelson (i) The critical minimum effort
(d) R. Nurkse (iv) Stage of drive to maturity
Codes :

w ® © @
@w @ o @ W
® Gy @ @ O
© @ w o @
o @ @ @ Y
get-1 31 E-11 & gafem wifon o 19 R w2 @ W sw w9 i

eI et-11
(@) UH. EREHIHA @) WE W ogvEm
(b) T TEY, TRE (it) ﬁﬂwrﬂ-qq@qm
() @M. FoHA (i) wifes AT W™
d) @m. T W) whwwm # sk = faf

L T
@ B ©© @@
@ @ @O G G
(B) @) G G 0
© G @ O @ '
O G ) @) 0

TBC : YRS (AP-CC-Economics)—2022-A 97 ' PTO.



64. The open market operations refer to :
{A) The Central Bank lending to Commercial Banks
(B) Specifying the margin requirements by the Central Bank
(C) The purchase of stocks in the Exchange
(D) The sale or purchase of government securities by the Central Bank
T swr # fras @ w6y §
(A) o &% g SR St B 3R 2
B) = 5 gR ARE = AEEEmel @ fuifm s
(C) fafrm aom # == = wher . '
@) F= 3% 0 A I W R s w0

63. 'The relationship between consumer expenditure and disposable income is
known as :

(A) Disposable income function (B) Savings function

(C) Consumption function - ° (D) Household Spending function
mmﬂmmmﬁmmaﬁwmtz

(A) W9 aI” wew (B) == e

(© T e D) W = v

66. mmmwmm}wqﬂintﬂlﬂfwhuhﬁurMIMﬁn‘
Season (RMS) 2022-23 s -

(A) Rs. 1935 (B) Rs. 1975
(C) Rs. 2005 D) Rs. 2016
.MMﬂﬂmmﬁmﬁmﬁﬁmeW":
(A) 1835 T9d (B) 1976 ¥W
(C) 2005 w72 (D) 2016 ¥W

TBC : YRS @P-CG—EMnomim)—-ﬁﬂnz_A 28



7.

TBC .

Consider the following with reference to their liquidity

(1) Saving deposits with the Banks

(2) Demand deposits with the Banks

(3) Currency

(4) Time deposits with the Banks

Select the correct sequence in ascending order of liquidity by wHGE tho cedes
given below :

Codes :

(A) @), ), @), (3)

B) (4), (2), (D), (3)

© (3), @), (1), (4)

D) (3), (), (4), (1)

frafefas W @ e + = § fyer #iew

(1) % +t s=9a sud

(2) =i =t Hn smrd

(3) wE

4) 9= @ wEfa sEE _

4 far T HE W FEAM FW T, WOl H ggd g H @ A W 9
Hifoe :

'lj'_v'! H

(A) @, ), ®),d

(B) (4), (2), (1), ®

© 3),(®, 1)@

@ (@), (2), 4), (1)

In Cobb-Douglas production function, the elasticity of factor substitution is

equal to :

(A) One (B) Zero

(C) Infinity . D) Indeterminate
Ha-gmem I e H, W BOWE oy oo b .
A) B) 3

(C) a4 (D)

YRS (AP-CC-Economics)—2022-A 29 P.TO.



In which of the following models of cligopoly, the equilibrium is unstable and
indeterminate ?

69.

(A) Chamberlin Model (B) Pareto Model
(C) Bertrand Model (D) Edgeworth Model
mﬂiﬁﬁ*ﬁﬁmﬁﬁmifﬂﬁﬁﬂﬁﬁgﬂqmﬁaﬁﬂfﬁﬂﬁmt ?
(A) i wiga (B) W& wlgd , :
(C) we= wisd D) wEd Hea
70. Mateh List-I with List-II, and select the correct answer from the codes M
below the lists :
List-I List-II

The demand curve is :
(@) Horizontal () Monopolistic competition
(6) Downward (i) Perfect Competition
() Kinked @ii5) Oligopoly
Codes :

(@) (b) (c)

A @ O (iz)
B @ & @
© @ (i) [i.i}

@ @) (i)
_@-Iﬁfﬁ-nﬂﬁﬁmmwm#ﬁﬁqmm%wmm
LG | T I
ot a% § ™
(@) &f= ) Ty wfivdfmm
®) 99 = gw w @ T e
() fagifam , (i) ISR
R : | |
(@) (b) (c)
(A) GiE) @) (i)
@ @ 6

© & @) @

@) G @ W
TBC : YRS (AP-CC-Economice)—202p_, 90



71

73.

74.

75.

TBC : YRS (AP-CC-Ewnnmiﬂl

" (C) Subhail

Change the following into Active Voice :

wThere is none by whom a bicycle cannot be bought.”
(A) There is none who could not buy a bicyele-

(B) There is none who cannot buy a bicycle.
(C) Who cannot buy a bicycle ?

(D) There is none who is capable of buying 2
Choose the correct sentence :

(A) He gives bad advices, I will not listen him-

(B) He does know something about physics.

(C) The First World War was fought in during 1914-1918.
@) 1 am obliged to you for helping me in this hour of need.

Choose the correct indirect form of the following -
go now 7’

bicycle.

The student said, “Sir, May 1
(A) The student asked if sir, he might go then.
(B3 The student respectfully asked his sir whether he might go then.

(C) The student said that sir, might he go now ?
pectfully asked whether sir, he might go then.

given expression ?
ses the bridge when he comes to it.

(D) The student res
Which of the following explains the

Suhail is a kind of person who cros
(A) Subhail is a procrastinator.

(B) Subhail is an active planner.
is a confident man.

(D) Suhail accepts all challenges.
Which of the following conveys the similar meaning of the given

expression 7

“We were invited for 8 wedding. We couldn’t go to it.”

(A) Whereas we were invited for & wedding and we didn't go
(B) We couldn’t B0 to the wedding for which we were invited‘

(©) We couldn't go to th¢ wedding because we where invited

}-—-2022‘—4“1 31 ’ PT.O



76. Choose the incorrect sontence :
(A) Could you please untie this knot 7
(B) We used to play hockey now a days.
(C) She enquired of her where she lived.
(D) Leena isn't tall enough to reéach the ceiling.
77.  Arrange the following jumbled parts into a meaningful sentence : .
P : in the same way
Q : die and be buried
R : commen asset and
S : the earth is our
T : one day we all shall
(A) PSQRT
(B) SQTRP
(C) PSTRQ

78. maﬂqh%mmgﬁq: :
(&) B TR R o gy (B) R Tmm vl A% am wf §)
(©) ﬂ’tm‘ﬂmﬁﬁmmﬁ mjﬂimmﬂamﬁtn
79. 1@ AR TR I T qmm @, e ¥

(A) EIEF TR (B) Taurmms amy
(C) whwaaE TR (D) VoETSF TR
80. T FRU I WO R AR o ety g
e Tl o ¥ ¥ S e g, W
(4) FoEe, SrEE (B) e, afeew
() W, PR D) g, fawm

{AP-Gﬂ-Emnuminal—Eﬂﬂz—a 39
TBU H YRS



81.

82.

Frefafes 4 @ S = vieTas Wm o g, 39 9 ¢
(A) IRETH

(B) A
© o™ (D) WA
W T W frefefan § A g qum @ @ ¢ 7
vy I (8) wieTa
(C) A=gdivg m}w '
i s @ I ST T— e ——— S s O
(A) w9 (B) Hﬁﬁhﬂﬂf
(C) ® 9= | (D) e
"EF-REE W g @ wd wd e ¥ 02
(A) wR-Hit ge (B) -3 F =
(C) Wa-Taams W &0 O T @ W N TR

Which of the following was thee }t&%t'ﬁ!] grea of Himachal Pradesh at the time
of its creation as the Chiap Bammi.sghnar’s Province in 1948 ?

(A) 29075 sq. km. (B) 256627 sq. km.
(C) 26542 sq. km. . (D) b67018 sq. km.

1948 £ # fewree R W NE FHR T W 99 D Wy 399 FF[H
forem &5 @ ?

(A) 29075 =i feil. (B) 25627 =1 feeh.
(C) 26542 =i e, (D) 57018 =°f fwsit.

Which of the following rivers is not a tributary of the Beas river in Himachal
Pradesh ?

(A) Kunah B Phojal
(C) Siul @) Binwa
frr s @ fire A8 D R W o s o W R 2
(a) T (B) Wi
©) fig D) gy

TBC : YRS (AP-cc-EmmmimJ-ﬂﬂﬂl-A 38 P.T.O.



87. In order to prevent the domestic violation of women in Himachal Pradesh,
when was the Sanrakshan Adhiniyam implemented ?

(A) 1861 - (B) 2005
(C) 2009 (D) 1996
feras Wau & wfeenel & W9 R w3 @ fog wew afufEm 59
&0 ?
(A) 1961 (B) 2005
(C) 2009 M) 1996
88. The Himachal Pradesh Budget 2022.23 proposes to build new roads :
(A) 500 km (B) 400 km
(C) 200 km M) 300 km
feurm ww & 9 202223 § fooft W wes T w1 wem @ ™ R 2
(A) 500 fefh. (B) 400 fit.
(C) 200 foit. D) 300 fesit.

83.  Which of the following amount is kept for the promotion of Art and Culture
according to Himachal Pradesh Econemic Survey 2021-22 ?

(A) 8.13 crore (B) 10.27 crore
(C) 7.24 crore (D) 11.43 crore

ﬁﬂﬁﬁﬁmaﬁﬁﬂmﬂﬂﬁbﬂﬂaﬁuﬂmmwﬁ[‘ 1 BeaET .
e = 3 A el o @Y e 9 TE & 2 b

(A) 8.3 =g B) 10.27 Fig
) 06 0% @) 1143 wig

90. Howmuchﬂnﬁ-hnﬂnetﬁsuhaidyhnzheaninmaﬁadfmmﬁﬂ i
: : percent in
Hl.maclm]PmsthlntheynarZI}Eﬂ-ﬂl?

€ 8o% (D) 85%

fomrem waw % 99 202021 % gy dum wEh @
2 g o WA gy T fa v 6o v

(A) 60 S (B) 76 Whrm

(C) 80 wftwm (D) 86 wiwa
. TBC : YRS {AP-CC-Emnnm_im}—zugz__A 34



91.

92.

93.

W!'Iiﬂh uf‘the following authors of Himachal Pradesh State Award for Literature
Winner is matched correctly with his work ?

Author Work
(A) Raj Kumar Rakesh — Kavach
(B) Acharya Bhagvan Dey : —  Uchhi Dhara Ri Dhoop
(C) Tara Negi — Himachal Ke Mandir
(D) Prem Bhardwaj Pahari Sanskriti

feree Wi 4 wiew & s -
i 5 TSI IErd 9 aen S9 ags 39 T96 S WY

(B) =M wEF 29 - =y ft @
(C) = it —  feoraw & Hfex
D) 9 YRg™ —  UgTgl wEhfd

Which of the following districts of Himachal Pradesh had the lowest percentage
of Polling in the Lok Sabha election of 2014 ?

(A) Solan (B) Bilaspur

(C) Sirmaur (D) Kinnaur

T 2014 & i I TE A fevew e @ = § A few R gl =W
gfdvm AagH g ?

(A) 9reH (B) faemaq

(C) fauiR . D) fF=in

Which of the following National Institutes was set up first by the Government
of India ?

(A) Indian Institute of Technology, Kharagpur

(B) Indian National Committee for Space Research
(C) National Physical Laboratory

(D) Rocket Launching Centre
ﬁﬁﬁmwmmﬁmmmg )
(A) Indian Institute of Technology, Kharagpyr

(B) Indian National Committee for Space Rege ok
(C) National Physical Laboratory ,

(D) Rocket Launching Centre,

TBC : YRS (AP-CC-Economics)—2022-A 35 ~ PTO.



Which of the following is correct about the President of India ?

(A) he is elected by members of an electoral college mnahtfng of Mmembey,
of both houses of Parliament and the Legislative Assemblies and Coungql,
of the States

(B) he can be removed from his office in accordance with the procedury
prescribed in Article 60 of the Indian Constitution .

(C) he may resign by writing under his hand addressed to the Vice-Presiden;
of India

(D) he may resign by sending his letter to the Speaker of Lok Sabha

TA g amifm A I e ?

(A) www g7E Pt wvew @ wew, foad 9N wed o a1 6 favm
wwet g sRedl & ogel g B ¥

(B) aﬁﬁ;ﬂnahﬁunmﬁclﬂaﬂﬁmﬁﬁmﬂmm
Hehdl i

(C) =% s vl g fofes w=ftwr so-usmfe ) % v &

D) % 9% ¥ & TWiH F AN TEw U gEma ¥

Which of the following States of India is the first to have implemented Five

desalination plants in coastal area ?

(A) Gujarat (B) Maharasthra

(C) Tamil Nadu (D) Andhra Pradesh

wrE & 7§ & frm w0 3 vy ot @ % W9 e fem Wi (Desalination

Plants) @] fey 2 |

(€) dfwrTg D) = Wm

How much percentage of the State’s Gross Value Added was contributed by

(A) 21.7% (B) 21.5%

©) 2055 D) 18.9%

ad 2017-18 # T W0 TR 4 3 sifeen o W ot § Frer § R

(A) 21.7 (B) 215 WRwwW

(© 208 Sfm @) 189 WhwW



97. In which of the following countries, Canterbury plain i8 situated ?

(A) USA (B) New Zealand
(C) Australia (D) South Africa
f1 § 4 fsm 23w 9 Canterbury F1 #'H ¥ ?
(A) FTEY, (B) =EdE
(C) FJR2fea (D) <fiqu IR

98. Identify from the following the location of Malta in the continent ?
(A) Asia (B) North America
(C) South America (D) Europe
ol & TR § wE-fauie @ fE § 8 ween wieg
(A) U (B) Tul AN
(C) =fem smaf . D gl

99. Which of the following countries has the highest Life Expectancy ?
(A) Australia (B) Canada '
(C) Japan (D) USA.
ﬁﬁﬁ'ﬁﬁm%‘ﬂﬂ'ﬂﬁlﬂSrrﬂﬂi?ﬁﬁqﬂﬂm{LifeExpectancy]% ?
(A) oo © o (B) '
(C) U (D} HUE.T

100. Which of the following Conferences decided to hold the Summits of Non-Aligned

Meet after every three years :

(A) the Lusaka Conference, 1970
(B) the Jakarta Conference, 1968
(C) the Cairo Conference, 1973

(D) the Belgrade Conference, 1967
ﬁﬁﬂﬂﬁﬁﬂ‘ﬂ?—mﬁﬂ?ﬁ%ﬂﬁMﬂﬁaﬂﬁmmﬂmm_ﬁq
gar & frofa femn a1 7 _
(A) the Lusaka Conference, 1970
(B) the Jakarta Conference, 1968
(C) the Cairo Conference, 1973
(D) the Belgrade Conference 1967
P.T.O.
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